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Why did the committee suggest a range and
not specify a single figure for various risk
provisioning to be done by the RBI?
It would have been a mistake to give one rigid
number. If you look at the objectives of infla-
tion targeting by the monetary policy com-
mittee, it is 4 per cent plus minus 2 per cent.
This is an important aspect of policy making.
It would have been a major error on the part of
committee to not give a range. After that, it’s
up to the decision-makers to look at all the dif-
ferent circumstances to decide where the
range has to fall. 

Was the economic capital framework that
was being followed by the RBI too
conservative?
That’s a matter of judgement. We, obviously,
have somewhat different judgement in terms
of the risk parameters to be used and, of
course, we stand by our judgement. In gener-
al, I would say if a central bank has to err on
any side, I would prefer it errs on the conser-
vative side and not the other side. It could
perhaps be argued that the earlier framework
was a bit too stringent.

The committee report has advised against
utilising the revaluation reserves. But there
is a view that it can be used to recapitalise
public sector banks. Your views.
That’s been explained very well in the report.
Revaluation reserves arrive from the revalua-
tion of foreign exchange reserves and are an
accounting entity. If the rupee depreciates,
then there has to be a corresponding entry in
the balance sheet on the liabilities side. It’s a
standard accounting practice. Revaluation
accounts are never distributed in a company
also. In this case, given the fact that in the
last 10 years, the foreign reserves of the RBI
have wandered between 60 and 90 per cent of
the balance sheet, and which are currently
around 70 per cent, revaluation reserves aris-
ing from nominal depreciation of the rupee
are correspondingly significant. On the other
hand, if the rupee appreciates in nominal
terms, as has happened in the past in some
episodes, as documented in the report, reval-
uation reserves come down. It, therefore, takes
care of market risk effectively. Thus there is no
way in which they can be distributed. If you do
that at all, you would also have to sell foreign
exchange reserves at the same time. 

According to a paper by Abhishek Anand,
Josh Felman, Navneeraj Sharma, Arvind
Subramanian, the RBI had excess reserves to
the tune of ~5 trillion in 2018-19, as per their
own estimates. The committee, though,
hasn’t arrived at an exact sum. What do you
think the RBI's 'excess reserves' look like?
You need to look at principles. The principles

were that revaluation reserves cannot be dis-
tributed and the number then falls immedi-
ately. We have given a range on the buffers.
That paper was completely mistaken and
nowhere in the world, is that kind of approach
is being followed.

A similar argument was made by the
government last year when it estimated
‘excess’ surplus of the RBI to be at ~3 trillion…
It was clearly an erroneous approach, which
looked neither at the size and composition of
the assets side, the need to have balancing
liabilities, nor at the character and composi-
tion of the liabilities side of the RBI's balance
sheet, while giving no recognition to the pol-
icy mandate of the Reserve Bank. I hope that
the Jalan committee report has put all these

issues in the correct perspective, and provid-
ed appropriate guidelines and principles for
maintenance of the RBI's balance sheet in the
interest of the country.

What were the challenges you faced while
arriving at a set of recommendations in
about seven months?
The first challenge was the context in which
the Jalan committee was appointed, starting
with the Economic Survey of 2016-17. It argued
that excess reserves in the RBI (Reserve Bank
of India) were ~4.5-7 trillion, which was a very
large number. It was a very sensitive situa-
tion given the kind of pressure that was put on
the RBI last year on this issue. This was pre-
sumably among the reasons that led to (for-
mer RBI governor) Urjit Patel’s resignation.
Therefore, the challenge before the committee
was to be able to provide a report, and analyt-
ical work therein, which would be politically
unmotivated and would essentially be an
impartial technical report. Our challenging
job was to examine the balance sheet of the
RBI on its merits and then arrive at the com-
mittee's considered recommendations.

One of the key issues that was considered
was that the balance sheet has two sides. If you
reduce the magnitude significantly on either
side, the other side has to also go down. If you
decide that reserves on the liability side are
very high and which need to be reduced and
disbursed accordingly to the owner of the
institution i.e. the government, then the oth-
er side of the balance sheet i.e. assets would
have to be reduced.

Before doing that, it needs to be under-
stood that the balance sheet of any central
bank is a consequence of its policy mandate.
It doesn’t exist in isolation. If the mandate
includes the maintenance of external and
financial stability, it implies the need to main-
tain some level of foreign exchange reserves,
which have to have some relation with the
kind of external liabilities of the country as a
whole. Therefore, a country like ours need to
maintain a certain degree of foreign exchange
reserves. At present, for example, the total
external liabilities of the country amount to
about $1 trillion, of which total external debt
is about $500 billion, while the country's total
foreign assets are around $600 billion, includ-
ing about $420 billion forex reserves. Second,
one of the key mandates of a central bank is to
conduct monetary policy and for that it needs
some stock of domestic securities to do mar-
ket operations. And the third is to maintain
financial stability, which includes its func-
tions as the lender of last resort, and market
maker of last resort. It, therefore, needs a stock
of domestic and international securities to be
able to function as an institution in charge of
financial stability.

These are all challenges for understand-
ing what determines the central bank’s bal-
ance sheet, particularly in context of India.
Then one needs to looks at the liability side. In
case of all central banks, the main part of the
liability side is the monetary liability i.e. cur-
rency and bank deposits and the rest of it is
economic capital, which constitutes the mon-
etary base of the country's monetary system.
The Indian monetary base constitutes about
70 per cent of the balance sheet. 

The committee’s mandate was to submit its
report in three months. What took it seven
months?
There was a lot of technical work that had to
be done and careful consideration of issues
that had to be addressed. All of that takes
time. We also endeavoured to examine all dif-
ferent views carefully so that we didn't ignore
any views or miss any issues 

There was news of flash points within panel
members, especially with the government’s
representative. What were the issues?
The final report is a totally unanimous one
and the government representative -- the cur-
rent finance secretary -- has signed it. The RBI
board, which includes two government repre-
sentatives, have accepted the report in toto.
We were able to arrive at a report with a view
that was analytically sound and was accepted
happily by both the RBI and the government.
As I understand it, the finance minister has
also appreciated the content and conclusions
of the report. In principle, there should be no
difference in the objectives of the sovereign, i.e.
the government, and the central bank, even
differences do arise every now and then. It is in
the interest of the country for the central bank
to maintain external and financial stability,
and to conduct a prudent monetary policy.
The MPC (monetary policy committee) has a
clear mandate to maintain an inflation target
of 4 per cent (+- 2 per cent) and to maintain
adequate liquidity management.

While the committee took seven months to
deliberate upon the RBI’s ECF, it took only
one meeting of the RBI’s central board to
approve it. How do you see this?
I am not privy to the discussions of the RBI
board. But the deputy governor of the RBI and
the finance secretary were a member of the
committee and the draft report was available
to both the government and the RBI, while
the work was being done. They knew what
was being done. I am not privy to what hap-
pened in the central board meeting, but I
assume all key aspects of the report were
explained. Looking at the press release issued
by the RBI, I presume that they covered all
the main points.

> FROM PAGE 1

“IT WOULD HAVE BEEN A
MAJOR ERROR ON THE PART
OF THE COMMITTEE TO NOT
GIVE A RANGE (FOR
PROVISIONING). AFTER
THAT, IT’S UP TO THE
DECISION-MAKERS TO LOOK
AT ALL THE DIFFERENT
CIRCUMSTANCES TO 
DECIDE WHERE THE 
RANGE HAS TO FALL”

“THERE IS NO WAY THAT THE
REVALUATION RESERVES CAN
BE DISTRIBUTED. IF YOU DO
THAT AT ALL, YOU HAVE TO
SELL FOREIGN EXCHANGE
RESERVES AT THE SAME TIME”

‘Perhaps, earlier framework was a bit too stringent’


